
 

powierzchnia użytkowa lokalu                                                   45,30 m2 
suma powierzchni pomieszczeń                                                 43,20 m2 
suma powierzchni przegród                                                          2,10 m2 

 

piętro                                                              2 Piętro 

 

 

4,25 + 21,02 

21,02 

5,11 

5,12 

23,01 

9,96 

 powierzchnia ogródka/kostki                                          21,02 m2 4,25 m2 
 

piętro                                                              2 Piętro 

 

 

4,25 


